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l. 40G ICM Design

»Keep current FCC RJ45 interface.
»Use optimized RJ45 contact design.
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Il. ICM Test Setup
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lll. ICM S-parameter test
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lll. ICM S-parameter test

RJ45-side Return Loss
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lll. ICM S-parameter test

PHY-side Return Loss

PHY-side Difierential Retum Loss Sdd22

0 Pair &4 —
Pair B =——
Pair C —
G- Pair O —

10- .
T~
25- \\/2/

30-

A

dB

35-

40-

0 500 1000 1500 2000
Freguency (MHz)

Page:6/12




lll. ICM S-parameter test

RJ45-side NEXT

R.J45-=side Differential NEXT
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lll. ICM S-parameter test

PHY-side NEXT

PHY-=side Differential NEXT
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lll. ICM S-parameter test

RJ45 to PHY FEXT
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lll. ICM S-parameter test

PHY to RJ45 FEXT

PHY to RJ45 Difierential FEXT
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IV. Other parameters

- Meet IEEE HiPOT specification

- Backward compatible with 10G/1G standard RJ 45
configuration

« Compatible with 2xN high density port
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Thanks!
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